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B. SC. (HONS.) BIOCHEMISTRY  

(BSCBCH) 

Term-End Examination 

June, 2023 

BBCCT-109 : METABOLISM OF 

CARBOHYDRATES AND LIPIDS 

Time : 3 Hours     Maximum Marks : 70 

Note : (i) Attempt any seven questions. 

 (ii) All questions carry equal marks.  

1. (a) Write the reaction catalyzed by the 

following enzymes (any three) : 3×2=6  

   (i)  Hexokinase 

   (ii)  -hydroxyl butyrate dehydrogenase 

   (iii) Acetyl CoA carboxylase  

   (iv) Glycerol-3-phosphate acyl 

transferase (GPAT )  

   (v)  Phosphoenol Pyruvate carboxylase    
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 (b) Give reaction catalyzed by pyruvate 

dehydrogenase complex and name 

subunit enzymes of the complex 4 

2. Explain the glycolytic pathway. 10 

3. Define Gluconeogenesis. Explain the process 

with Pyruvate as the starting substrate. 2+8 

4. How do CAM plants fix carbon dioxide ? 

Discuss.   10 

5. Explain the process of -oxidation of fatty acids 

with suitable example. 10  

6. Justify the following statements : 2×5=10 

 (a) Rate of Ketogenesis increases in starvation 

and uncontrolled diabetes. 

 (b) Ratio of insulin/glucagon decreases with 

decrease in blood glucose levels.  

7. Explain the regulation of any one of the 

following pathways : 10 

 (i) Cholesterol biosynthesis 

 (ii) Fatty acid synthesis 

8. What are different fates of fixed carbon in 

plants ?   10 

9. What are Phosphoglycerides ?  Explain any one 

metabolic pathway for their synthesis. 2+8  
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10. (a) What are lipoproteins ? Describe its 

different types and their functions. 5   

 (b) Match the following : 5×1=5 

 List-I  List-II 

(i) Gastric 

lipase 

(a) Emulsification of 

fats  

(ii) Bile salts (b) Transport of fats  

(iii) Chylomicrons (c) Major fat droplet 

coat protein 

(iv) Perilipin (d) Fat mobilization 

(v) Lipase 

hormone 

sensitive  

(e) Digestion of fats 

in stomach  
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(i) 

(ii) 

3×2=6

   (i) 

   (ii)  ª

   (iii) 

   (iv) 

(GPAT)

   (v) 
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2+8

CAM



2×5=10 
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2+8

5×1=5 

 I II

(i) 

(ii) 

(iii) 

(iv) 

(v) 
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